005GCBGwW 941 %34

FE—EhRl

[F=HK)

[fHE®] 2

[(AR#L4 3]
(&%)
(R XIZ4F] )

(FEFF X3 EFTE#] (3)
[(REHEBFEED] @

[(feiH]

EEHESE No 1

EHE278D_25 HE1I1H

il MBRE

RSNy a—R L —3 2200

AP REE

LERHHREMTH 2 & 29 59

TR 178128200
TER17T#£12H27H

[fethE R OHFEREEORE (&) ] 14

(FeHizEe] ()

Zol

£l BGEfretticEd 53IE] (6)

RIT2t0LR RASHENIN Y
Lt a—R 2467
k13- JEEROF] kiE

EIBRESEREIFR

BAEHBRHTEIHE My 2R

A JE PR

R PREAAESRII_TH2%65

B2 [REFICETZHE]
1 [f&hE (REREH) /11 (0
(1) [fRHFOME] (8)
D (RiE REHFEH)]

BN - EADH EA

R X34 R st Ry ha—RL—2a >

EFGEAER S | £HBWPREETH 2% 29 5
_ E&%Rﬁ%%

[BEERr XA RS PR e 3




@ UAADES] o

EEAH

L ES

SR

EulEy SRl

@ [EADES]

HRIEEHH B2 2H 22 H
REREFRA W REE

RRERE RETEFERLE

FENE BB - BB ORER R

@ [EBHLoEKE]

. AEHBTPREMTH 2% 298
3 X X H\ > L] TN — Y ™~ o=
#HEOBMERIRSES BEIN—TERINTR2—Dr— HE %
EiEES | 0562-249-5412

@) [RAEER] )

BORIRE




3)

[ BRI OREHRBFLFEONR] (1

O [(FEHRFZFEOK]

0)

EHEITHRD 2353
A

EEITRO 2353
HE | &

HRE T &
HELS

&DIE

wE W

HRG| ZHEREE R

HR TS D

PR

W RAMEE SN - 957b

=l |

— e | e

PRI FAFEAL 25

PR B TRFCRE SR

At SR AL 2 DR 18

& B W

ERmBNc L OEIEL
ZETEVERTE
PEZEE DL

Ui |t |
|

RABRSEOH BEO
{(MN+0-P)

REBERIORK
(A+B+CADHE+F+GHH+I+]T+
K+L)

@ [(HHEREES]

FEtT R s

&
CER 174 12 B 14 HIRLE)

6, 660 &

EREEHEORBEREFRE (%)

(Q/ (R+S) X100)

ERT DL
REHE (%)

FIRB SN RS

3.00%

(4) [MEHESORTEORITT HMLEOMT B EF 60 AOREIZNSOWRE] (1)

£ H H

HHEEOHEE

%

B2 G35 DB

B

EREITE LA WA

BREF 2

0 0%

i)

8§08, 450 [




(o) (BB FEOMT HHEAENEETERZH] (12)

HEFRL

6) [REKRBFORBFES] (13)
@ [(mBESOHWR]

HEEeE T (FH)

BALES U (FM)

TOMEHEE V) (FH)

Ei (V) OAFR

HeESEs (TH)
(T+U+V)

@ [BALONR]  ZHYUFELL

BE | 48 (XEL) | 2w | AEERA FFOfE M

EAE/

&

[ | &L

10




B2 [fRHEFICET2FHE)]
2 [RHF (REfRFH) /2] ()

(1) [RHEOHE] @)
O [RHEE (REHEEH)]

BA-EADH) ®EA
EAEXIIEH BXEHN RAeE
FERAXEAIEER | AHBTRRREOTH2E 298
A4 X347
[BERT XA JE P e it
@ [BADEA]
4£EAH
i
B kA
LE R e
® [EADEE
WIAEHH TR3E8H26H
REHRA w Ih
REH R REDFHEALE
FEAE ISER. =54 27 )Y —F

@ [HH.LOEHE)

BB LOERKERHLYES | AEBRTHREETH 2% 29 E
BEIN—TERINIZ—Tr— HE

~H

7%

] 062—-249-5412

Q) [rEHH] )

BRI E




() [ERRHEORTHRESONR] (10

O [rE#®RHFZEOR]

)

B 1T R0 03 R D 038 | BE 1 &0 23
B IR SIEHE & EIFEELS
BRE B 300 #
G SZHEEEE R A — G
PR TRIMERE % (R B — H
YRR IO W C — I
SR MEE N b 930b D ]
MRETEFEET %
MREEEETERLEE 24 E K
T SRR 2B B F L
& W M 300 % | N 0
ERmAICLVEE L& | P 0 B
Tk DERT BHRESOK
RERSZOR (810 Q 300 #
(M+N+0-P)
REEERRORK R 0 %k
(A+BACADAEAF+GHHFT +THEAL)
@ [BRHBLEREEE]

HITHEWRNAE B S 6, 660 #

CERE 174 12 B 20 A¥EE)
FREEEEOBRELERGES (%) 4.50%

(Q/ R+S) X< 100)
EffOREEICEHE I N~ i 4.50%
HEEHE (%)

(4) [SEBHBSORTEORTT 2HESOMTSEE 60 HEOREILSORR] (

£ H H (%% Zo0f&@EH| % = Eﬂﬁzmkﬁﬂwu %ﬁ

BN




(m(%ﬁ%#%®%?%ﬁﬁ%%%§%ﬁ%%)ﬂm‘

B2 AN

6) (REHREFEORBESR] (13)

O [BELDOHNR]

HC&E®E 1) (FM) 30, 000
BASER O (FTH) -
TOMSEE V) (FH) —
EE V) oRER —
EESEF (TH) 30, 000
(T+0+V)
@ (EASOMER]  ZM4TEAEL
S | B (RER) |28 | REERSL 5 " BAER | &% M)
I | &%l
2
3
4
5
b
7
8
9
10




B3 [HFFRAEHICET2HE]

MEHBHIL

4 BB R ORRRG S T 585
1 UEHEROERABEE] (18)

RS RO

2 [LRBEHERCERAGEEOREHREZONR] (19)

(1) [REBEFOE]

EE TS0

HBE 2T &D 23 B 2T &0 23
%3 EAX HWIEELE BIEHELS

FR%E #R 300 #&
RS SHEREE R A — G
HRRTIIMERE S (R B — i
IR TR E S @ C — I
M FAEMILERIN -1 17sb D ]
HRBFTERLRE R
Ph2 B EL TR RE AL 5 E
PRI SR~ B £ 1= F

& & & M 3008 N
ERBBICXVEELECE [p 0%
KR OBRT 2HRES0K
RERESEOR (BE) |9 300 #k
(N+0-P)
BREEBERROK R 0 #
(ATBHCAMHEAFHGHH+ I+ T4K4L)

2) [BRBEREFEE]
FITHEEARE ® S 6, 660 £k

(Frk 174 12 A 20 AEA)
LRRHFOMSEREFEES (%)

Q/ ®+S) X 100) 4.90%
EROMESITIRE I NS 7 51%

BREEIS (%)




S Tt IR
F B TTE 2 A20H

£ BF X &

...................................................................................................

.......................................................................................

M, TROFEZREALED, TERIEE-_S0=
IBRBEDORERE ORIICET 3 BR] [CIED B K TELR
%%@f’?ﬁi&tﬁ%&fiBtﬁ&:%’l?&‘ﬁ%%@ﬁbwiﬁﬁbzﬁﬁ
TL—YDHREELET 3,

AC

1. READERXI

.......................................................................................................................................

2. RBEAORAXE #HFxLo# Rwyhd—RL—2 3>

.......................................................................................................................................



